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Eg. Find the expect value of the procedure below.

Bet Earn
1 -1
2 -3

> EV. = |-C) + 2.(3)



eg Suppose you play a game with a biased coin. You play each game by tossing
2 1
the coin once. P(heads) = 3 and P(tails) = 3 If you toss a head, you pay $6. If

you toss a tail, you win $10. What is the expected value?

S:

E V. = —(f.2 + /og’
—4t

t—' 0.b7 ) 0/0//arJ

|

0?

eg Suppose you play a game of chance in whichive_mmoirs are chosen from
0,1,2,3,4,5,6,7,8,9. Acomputer randomly selects five numbers from zero
to nine with replacement. You pay $2 to play and could profit $100,000 if you
match all five numbers in order (you get your S2 back plus $100,000). Over
the long term, what is your expected profit of playing the game?

° 75 for eadh nueber sl replacemen
e mmbe I_'OTIOTIO - = 0.0000|
/l/lomej ‘ P’OL’ L)
Win = §(o0,000 |0.0000] f’DA- °f w0 0000
(¢ >  ~42 |0.99994 [eob of Lose: | _ o.c000]

=

EV. = 100000 p.0000) + i \aj%iﬁ
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= [=1] ddl.,

Eg. An insurance company estimates the probability of an earthquake in the next
year to be 0.0013. The average damage done by an earthquake it estimates to
be $60,000. If the company offers earthquake insurance for $100, what is their

expected value of the policy?

s Money | Probibly - -
Not 1Cfce—> $60,000_$/00 0.00|3 At 7%,4( Fmé_ = 2,003
—$l00 || 0.0013 D earthgunfe Prb = | = 0. 00

Money | Probibilivy

;> 59900 |0.00(3

—loo |0.9987

E.V. = §1900-0.0013 + 10009987

— Ez dollnr<

eg A roulette has&/SWs, 18 red trays, and 1 white tray for the ball to land
in. The casino takes your bet of $5 that the ball will land in a green tray. The
casino will pay you $10 if the ball lands on the color green. The probability of

po—gs — 35 | & win s 1%
T 37
,$g 19
’ fose s [—LE — L7
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eg Now suppose you bet S1 on #12. If ball lands on #12, you get $35. Otherwise

you lose S1. What is the new expected value going to be.q\

S: fonl G 37
<9n\57 on-©

$55,$/ . Money Pfo[oaéf@/ (/

$§£]JL ‘:;>‘L7 éja 12

,5{;( %é/ é—m»‘je!#/l: ]___L_—}é

EV. =455 + ~|- 2t

= —flSo\oSZ
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